Ty - 1.1 .1 & .
. HI-E"'E_Z_“""'SIM1+2+3+4+"w S‘h then :
(A) 8 = 1 and 8, = 1
(B) §; = 1 and S, = log 2

(C) 8 = log 2 and 8, does not exist

(D) S; = log 2 and S, = 1

(A) Bl=lﬁlﬂsz=1

(B) §) =179 Sy = log 2

© 8

log 2 71 S, e | 36 &

(D) S5;=1log 279 S, =1

TBC : 24/ECPII—-D 2
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6 lectures are scheduled in y weey starting from Monday and ending on Sunday

of the same week. Computer Scienge i& not on Tuesday or Saturday. Peychology

is immediate after Organizationa| Behaviour. Statistics is not on Friday and

1 there is one day gap between Statisties and Research Methods. One day prior
;' to the schedule of Economics thers is mo lecture (as that day is OF day
s | and Monday is not the Off day), Based on this information, answer the
i j questions 25 -
HreER B Y€ WE Faaw w wrg @ A W # 6 sren Puifa § s
o A F WTEEAR S v w1 o g wEa w s et g
n..n._,__-;‘\ = ¥ HiETE W oy ol & awn S 9o fod dvEm @ 9w 4 o
:M..J - e m fem 8 ok @ P WA o o R, i omem W@l b (T
HJ . EtE oA & A dvn o o 8) | o T gE # e o wed (2-5) § I |
Sindoy -~ Py e ‘
e -tk 2. Which of the following is the last lecture scheduled 7
S ey ("?Ejﬁmmmms (Bf Research Methods
S AS =

+ N
(C) Psychology (D) Statistics 72 H 1o T it

=
woH 3 0 il srem Fhm & 7
(A) Fdwyma (B) frod fo=w
() wEaA (D) Hifer
TBC : 24 ECP/I-=D 3 PT.O.



. - How many

Aday 7
q = 36 ]dmmhﬁ“

@A) P sj'ﬂhnlﬂﬁ @mmmh Methods

oy L ) Economics
(C) Compu <
yEan W fEw e L&
(A) Wit
(C) FroEt TH

.« are scheduled between Economics and Peychology ?

B) foud duem
(D) e

&) 1 B) 2

{@ 3 o 4

seem e ﬂhm*ﬂiﬁiﬁim Tuffa & 2

(A) 1 : (B) 2

() 3 D) 4

Which day is Computer Science scheduled ?

(A) Monday @ Thursday
() Tuesday D) Sunday

o FE e A fafe € 2

(A) HmEm (B) TR
(C) WeER (D) R
TBC : 24/ECPAI-D 4

Read the following passage camw and answer the questions 6 to 10 :

Intra-Sectoral trade arises in order to take advantage of important economies
of scale in production. Infact, international competition forces each company
or firm in industrially rich countries to produce only one, or at the most a
few, varieties and styles of the same product rather than numerous different
varieties and styles. This is essential in keeping unit costs low. With fewer
varieties and styles, more specific and effective machinery can be developed
for a continuous operation and a longer production run. The nation then imports
othiers varieties and styles from other nations. Intra-industry trade is beneficial
for the consumers due to wider range of choices, ie. the better variety of
differentiated products, available at the lower prices made possible by economies
of seale in production. As a result, large welfare gains arise from the ability
of consumers to greatly increase the varietjr of Goods that they can buy through
trade. The significance of Intra-industry trade became noticeable when tariffs
and other obstructions to the flow of trade smong members of the European
Union, or common market were removed in 1958, It was found that volume
of trade increased but most of the increase involved the exchange of differentiated

products within each broad industrial classification.

TBC : 24/ECPAI—D 5 P.T.0.
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6. The impact of International competlion o0 IntraScctoral trads can b€ e

in ¢
(A) Restricted advantages of production
(B) Undesirable effect on Tndustrial Production
(C) Availability of wider varieties of products
(D) Limited varieties of the same products
7. Lower product price means :
(A) Dearth of Choice
(B) Continual production run
(C) An increase in Trade information Exchange
(D) Increased Consumer purchasing power
8. Use of Specialised Machinery and Development shall lead to |
(A) Import of varieties of products
(B) Hindered intra-industry trade
(C) Decreased Consumer Welfare

(D) More varieties of products

TBC : Z4ECPAI-D ]

(A) Emphnain on differontiated products

(B} Slow Intra-Industry Trade

() Flow of Union Products

(D) Surge in volume of trade among member states
10. Synonym of the word ‘neticeable’ is 1

(A) Unobtrusive

(B) Perceptible

() Friendliness

(D) Detrimental
11. In communication process, body language is associated with :

{A) Subject taught (B) Escapism
() Culture (D) Implicit
12. Non-verbal eommunication is mostly :

(A} Unstructured (B) Automated
(D} Structured

(C) Prearranged

TBC : 24/ECP/11-D T

9. Removal of barriers to the flow of trade in European Union led to :

P.T.O,
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13. In communication, chatting on the Internet is reforred to as what type o

18. Select the incorrectly spelt word :
communication ?

(A) Anxiety
(A) Spatial communication
. (B) Benefited
(B) Tactile communication
= % C) Peit
tef Parallel ok (C) Peity
{D) Grapevine communication T ;L;\J (D) Mercenary
¥l J
\, ~
14. Which of the following isfare barrier(s) to effective communication ? — 17. Select the word opposite in meaning to the given word ‘Gregarious’.
M castiy,
(A) Physical noise, psychological noise ":‘;‘“"‘" (A) reclusive
Ilq..q‘.,.l
{B) Active listening (B) extrovert
Pty
(C) Colour, sports I (C) assertive
(D) Gender (D) amiable
15. In communieation, interpretation of the message depends upon : 18, Select the word opposite in meaning to Tremulous’
(A) The context : :
(A) quavering
Transmission speed
AL ‘ (B) wobbly
(C) Channel inefficiency _
(C) shaky
(D) Mﬁd noise
(D) steady
TBC : 24/ECPM—p 8
TBC : 24/ECPII—D 9

P.T.0.
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32. The number of triangles formed by 11 points (out of which 5 points are collinear)

"{é -~ - L
Tuming to his right, he walks 25 meter He

30, Moolchand faces towards North.
in a plane, is :

“" then turns to his left and walks 30 BHer: Next, he moves 25 meter after turning

o hie right. He then turns fo his FE0t again and walks 55 meter. Finally, Sl @) 175
he turns to the right and moves 40 meter. In which direction, he if oW from Y o 2

11 fargalt (Farld @ 5 fag g §) @ @ BT S HE .
his starting point ? (A) 166 (B) 175
(A) South-West _ B South (C) 155 ) 145
(C) North-West South-East 33, In the places of last two digits of & three digit number are interchanged, a
qEe= ®1 §E W e E B “w o BOE gz 25 H. wEE % w9 =E new number is oblained which is greater than the original number by 54. The
o T Te § S 30 Wh R - A i A difference between the last two digits of that number is :
2w = o FEET 55 . W6 B BOEEY, 7 o mon g 40 . T i e
%1 9 a% I IS fag @ fed W A ¥ 2 (€ 6 o 8

o sisT e Tew A s 9 2w amE # wee ) § R oR A sen P
&) - &) =hen % o 5 W e @ 54 = ¥ T HEN F W A i owwm b
(C) FR-v¥as (D) =fm-gi= (A) 2 (B) 4

() 6 D 8

31 The cost of lighting 200 bulbs for 6 days for 4 hours everyday is Rs. 40. How

many bulbs can be lighted for 15 days for 3 hours everyday at the cost of 34, If ag+u_1! = 08(a>0), then the vilne of a* +la s
a

Rs. 48 7
(A} 525 (B) 770
(A) 120 bulbs {B) 128 bulbs
(C) 870 D) 970
(C) 136 bulbs (D) 144 bulbs
- : qfe a“+—]-~-98(u>m L | u“+-}— 3
Waﬁzooﬁﬁﬁzﬂﬁnﬁ,amanaﬂ%mwatlls st idhat g o W R
feff 9§ 3 w2 e A WA 48 5 wew @ HE ol gwd w07 (A) 525 B) 770
(A) 120 we9 (B) 128 T7= {C) 870 D) 970
(C) 136 &&= D) 144 T4 7
TBC : 24/ECPI—D 15 PT.0.
14

TBC : 24/ECPAL—D
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32. The number of triangles formed by 11 points (out of which 5 points are collinear)

"{é -~ - L
Tuming to his right, he walks 25 meter He

30, Moolchand faces towards North.
in a plane, is :

“" then turns to his left and walks 30 BHer: Next, he moves 25 meter after turning

o hie right. He then turns fo his FE0t again and walks 55 meter. Finally, Sl @) 175
he turns to the right and moves 40 meter. In which direction, he is now from T 4 o g 7

11 famgai {W#:mmt;ﬂﬂﬁﬂ?ﬁaﬁm%:
his starting point ? (A) 166 (B) 175
(A) South-West _ B South (C) 155 ) 145
(C) North-West South-East 33, In the places of last two digits of & three digit number are interchanged, a
qEe= = §E W e § B W#Fﬁ = mE = o5 @, W % @@ = new number is oblained which is greater than the original number by 54. The
o T Te § S 30 Wh R - A i A difference between the last two digite of that number is :
2w = o FEET 55 . W6 B BOEEY, 7 o mon g 40 . T s e
3, 3@ w% 7 mehE frg R B R A E 0 S5’ aRag

4 i e Tew A s 9 2w amE # wee ) §odR oR A sen P
&) - &) =hen % W 5 W e B 54 =W ¥ T HEN F W A Aw s b
(C) FR-v¥as (D) =fm-gi= (A) 2 (B) 4

() 6 D 8

31 The cost of lighting 200 bulbs for 6 days for 4 hours everyday is Rs. 40. How

many bulbs can be lighted for 15 days for 3 hours everyday at the cost of 34, If ag+u_1! = 08(a>0), then the vilne of a* +la s
a

Rs. 48 7
(A} 525 (B) 770
(A) 120 bulbs {B) 128 bulbs
(C) 870 D) 870
(C) 136 bulbs (D) 144 bulbs
- - qfe a“+—]-~-98(u>m L | u“+-}— 3
Waﬁzooﬁﬁﬁzﬂﬁnﬁ,am#4w%mwatlls st idhat g o W R
fedf 3 W2 e A Wi 48 % wtwn @ we (Ra dew w2 (A) 525 B) 770
(A) 120 we9 (B) 128 7% {C) 870 D) 970
(C) 136 &&= D) 144 T4 7
TBC : 24/ECP/II—D 15 PT.0.
14

TBC : 24/ECPAL—D
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38. In a triangle ABC, D is midpoint of the side BC. If AC > AB and AE is
perpendicular on BC, then which one of the following relation holdé ?

(A) AB? = AD? - BCED + %BG" '

(B) AB% = AD? + BCED - Iw' @wi

(C) AB® = AD? + BC.ED + BC?

mJAB3=AD2-Bc,En-<}nC2 ]

fm ABC #, D, ¥ BC %1 w1 fag ¥) 3 AC > AB 70 AE, BC W &=

tmfEddasmemt 2
ases from 30" to 60", the shadow

e

(&) AB? = AD? - BCED + 3BC?
(B) ABZ = AD? + BCED - %ac;ﬂ

(C) ABZ = AD? + BC.ED + BC?

i () AB3=AD2-BC.ED—%BCQ
F.‘

lﬂ; TBC : 24/ECP/TI—D : 17 P.T.O.
I




_ 1
ﬂl
e ©) 33
a% a=T744J3, T J;+
, w 3 -
(©) 33
42, mmwmwmurﬁmmmwmmmmam
of radius a is : b B A |
(A) a/V3 %‘% 2a/3
s
©y nf (o) 4 i
Fa ,afamqmaamﬁimﬁlﬁ:m@mﬁﬂiﬁ%ﬁuwtmmmt?
A alV3
© a3 |
, 43. The chance thntamhpmrj; i
: .
@ 3 ® 3 .
© 3 ™ 3
*ﬂﬂ!ﬁ!ﬁ‘ﬁﬁ?&zﬁmmﬂmﬁﬁﬁmﬁmt ?
: ;A
m% (B) 7
: 4
o3 ™ 3

TBC : 24/ECPAL-D 19 L EEO.




TBC : 24/ECP/I1—D 21

(©) 1925 @) 8025

T S W T w45 ¥ 9 T 9 25 3w R
98 v ¢ v
(C) 19725 {Bj} =

- Two men A and B start together from the same paint to walk around a 9 km

long circular path. A walks 5 km and B walks 2 km an hour in the same direction.
: )
Then they will mmtﬁrstatsmrgng’pdnt after :

(A} 4 hours (B) 5 hours

{C) 9 hours (D) 10 hours

9 Tl 7ft 78 W A T A T B ww W O T W W s

F1A,5 forh ow B, 2 fosh. o e A e e e 81 7 2 o e
W e A & am feh 7

(A) 4 5w (B) § ww2
(€) 9 g2 D 10 "=

£T.0.




(B) Only (ID) is true
(C) Both (1) and (II) are true I

M) Neither (I) nor (I} is true

oot e«

M Fg Py # 33w, 3Rz, s 0 ws ey £
R e T S ——
R om0

(A) F=w (D) 7= &

(B) T8 () T &

. -

(C) B () 7o () =

M) A/ (D@

TBC : 24/ECP/II—D 23

P.T.O.
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LB

i e
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“‘i‘m of & parallelogram, a rhombus and a triangle

vl i !gmm-wm and between the same parallels. Then

which one of the following is true ?
(A) Ay < Ay < Ag {B) A,:-A.;;.‘A?
() Al =A!=Aa
o T ST 1 TR AR A0, S SO, T 8 P A

m:AI,A,mA,ﬁm‘ﬁﬂﬁ%mmt ?

. D) A=Ay = 244

(A) Ay < Ag < Ay (B) Ay > A > Ay

(€ Ay =4y = 4, D) Ay = Ay = 24

If n equidistant purmta AL,Agf Agy civneee A, are taken on base BC of a triangle
ABC. If A;B = AjAy = AjAy = e = A,C and area of triangle
AA;Ag is k cm®. Then, area of triangle ABC is :

(A) nk em® (B) (n + 1k cm?

(C) (n + LK/2 cm? @) k cm?

f&H T ABC $ R BC W 791 38 W on fig A}, Ay, Ay, .. A T

T A AB = AAy = AgAy = ... = A,C T A AAGA F1 GFE

W%ma&ncm e ¥

(A) nk (B) (n + L)k it
(C) {n+ 1)k2 ﬂﬂ'ﬁ o & a-:ﬁ‘z
TBC : 24/ECPMI—D 26

'ﬁ'?j‘ . ' "
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1w 111y
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i

58,

59,

A% ;
”4"” EESEY Y Y B

7 iy q-j‘ !
In a row of girls facing North, Rinky in 10th to the left to Pinky who is 21st

LB R b h

from the right end. If Minky who is @&m the left end and is fourth to

the nght of Rinky, then the number of girls in the row are :

.
? o
— T4 g ay=ly =

.'"’-'nﬂay f—:—- F.M,__I

A

‘l[A} 37 (B) 43 T

© 44 ®) 45

T fom # OF qr w0 wE o=iwd w1 G 4, L S oA A 0§
o i o 8 7 & oud 1 o Pt il @ 17 & o B o @ i
¢, m e a wefed W W
®
D)

(A) 87 43

(C) 44 45

The function sin™ x sin mx + cos™ x co8 mx for y ¢ B has maximum value

at:

(A) x = /4 when m = 2

(B) £ = n/d when m = 4

(C) x = w4 when m = 6

D) x ==

Fe sin™ x sin mx + cos™ x co8 mx WE xR, T AMFEH T
A) x=n4 TETm=2

B)z=ndRETTm=4

C)x=adTETMm=6

D) x==n
TBC : 24ECPMI—D 27 P.T.O.
i‘.
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@) Ram, Shyam, Mohan, Hari, Tn:niq.m'imiﬁlﬁm""fff

amdlmuhrtnhle. ) :

o .. o v A

(i) Hari is not neighbour of Mohan or Tulsi. ! P

(ii) Ram is neighbour of Shyam and Mohan. A g

(iv) mwhmaemndmmmnfﬂnﬂmth-nﬁsﬂmafﬁhmﬂm
i &

i e

mwaﬂmmmmﬁxﬂ-m*mﬁﬁ! i

R serh .

Um mm%!ﬁ,m.mw:ﬂﬁﬂﬁsmmﬂwiﬂmﬁ
Eom*““ﬁtl |

.b fmo -kr' n‘
%mmmnﬂmwﬁh %\.;. ,[f__._&..._ -
mam,mmﬂmmwmt: X n‘. ‘\ I

&u)lﬁﬁﬁﬁrmﬁiﬁﬁwﬁtmmtﬁﬂﬁ@tl m s,

&thhmeuf&afoﬂmngummd? £ ¥,

4 TBC : 24/ECPII—D 29 P.T.0.

MA) Shyam is between Ram and Hari

B Mt i batwoen: Ravi. and Kirt

(C) Tulsi is to the immediate right to Kirti

(D) Ravi is to the immediate left to Kirti

e # @ S o w7 .
(A) vy, T 3w @ e F &

(B) ®, T 3iw #ifd & 4ra # &

() Temh, A # e ot ww &

D) W, 5t & g = 7w & J




—

. wﬂ'ﬂ?"r with the second person sitting on the
Frﬂl?
atﬁw“"‘

Kirti and Ravi
‘ (D) Ram and Tulsi
{G}mmﬁfnﬂﬂwﬂm W =i & e o W g o

ﬁqﬁ%@ (B) Fift 7 =
) s Tt (D) T8 A e

© 2% > 35> o 5 5
m)s”’:ﬁ‘“:-;’*":-ﬁm’ p ;
piasmem et ®
m‘w,sm,,gm,aﬂ‘ = Vol LIeat
(B) 5% » 41 > 38 > 2 2
(©) 212 5 3V6 5 410 5 '1 ¢
m:s“ﬂ‘“n“:»ﬂ’"

5. Two numbers are respectively 20% and 50% of the third number. What percent
is the first number of the second ?

i
4
4

3
=

(A) 5% (B) 10%
(©) 25% @40%

4 dend fist AW wEm B ¥ 20% T 50% 1 waw Hew, gEd gew @
fet s & 7

() 5% ®) 10%
() 25% D) 40%
TBC : 24/ECPML_D e

In what time, will the simple interest be 2/5 of the principal at 8 percent per

66,
annum ?
(A) 5 years (B) 6 years
(C) 7 years tD} B years
§ yhwm A AT 2 A, fea wg § @R =, P w25 9 e 2
(A) 5 ad (B) 67 @\r\ RPN e
(€) 7 @i M) 8= |
67. 1f 324 x 150 = 54, 251 x 402 = 48 and 533 x;zéb = 120, then in the same :
wayl t;':e value of Gal * '145 is : ‘3‘:‘1;'
b £ - T
(A) 6O (B) B85 : 12y
(©) 120 BT 144 ~2 = _E;ﬁ‘
AT 324 x 150 = 54, 251 x 402 = 48 W 523 x 246 = 120, 7@ T TE A ;
651 x 345 %1 WA ¥ :
(A) 60 iB) 85
(C) 120 (D} 144
68, Whu:h is the odd one sequence of the ]ettars from the given alternatives ?
(A) A'YHZ (B) B}gc‘gl syx RSP
© Dvw.r - () MpoN
4 " el W fam sEw wEm k2
(A) AYBZ (B) BXCY
(C) DVEW (D) MPON
TBC : 24/ECP/TI—D 31 PTO.



I =3 “E gy 6 . ‘ S

4 < fi I | __i ¥
; 69, A statement is followed by the two statements (1) and (1. <a J :, T £ R 2
| " <3
‘ | “One should not s 71 A man's working hours in a day were increased 20% and his wages per hour
il Statements :
|

(O The falling leaves may spoil our clothes. were increased by 15%. Then his daily earning is increased by :

| (II} Trees give out COy at night which is injurious to health.

; Which one of the four given choices is correct 2 (A). &% (B) 38%
| (A) Only (D is implicit (@) Only ) is impliit ( (0)) 35% D 40%
| (C) Both (1) and (ID) are implicit (D) Neither (1) nor (I1) is implicit -
| A v @ 79 (I, 7= w0 W G § o e 2 T w w0 A av f 20% F wdat A € 2 aEe dew
' 2 e e L . 16% Wi wezr W fow W &) W wwwl et W OwE FEEA wgd § 2
| | FEA ¢
@ frdt g€ vl B9 w9 WO F AR E , (A) 28% (B) 38%
I (In ¥ ™ % CO, 30 & o & ¥ % fom afwms 1 '
A d A A g k7 (C) 35% D) 40%
(A) Fm (D) #=0iten § (B) #ww (1) srafifim & . P A
© > 0 v {]D mﬁf‘m % D)= & @ st 7450 srafifen & 72. In & certain code, COMPATIBLE is written as BQNPDDEAHS I‘How IE” L‘J } ;‘;Lp‘ﬂ
70. Five men A, &. C, D and é read a newspaper. The one who reads first give s S'T‘M’!II,HSF:D written in that code ? : -:-J\,L o ! yl}qg 1% # f?]‘:ﬂ
|! it to C, the one who reads last had taken it from A. E was not the first or “: il ¥ I ' '_: i '. 2 [
E i last to read. There were two readers between B and A, The person who reads e T JCBUTEDTHM (B) JCBUTCDRHK ﬂ a; = ;‘*g‘
s the newspaper last is : N S "h"': ]
' (A) A B B P P @{‘_}JCBUTEF’TJM (D) TUBCJCDRHK R
; Vo 5 A
ey "‘-Q 7 T+d uF fifyss #2 #, COMPATIBLE %! BQNPDDKAHS famn = %1 36 =12 &

diq @it A B, C, D 79 E 7% wuren-va Tga B o A WA B A @ CH | P .
Mt dR e T T AR T A @ W B E e o afm weR aen % 4 AR STABILISED # = § 3§ e fau faih 7

HBmAS dm i § o & gt A ARG ‘i%”
(A) A ®B) B t »5 (A) JCRBUTEDTHM (B) JCBUTCDRHE
{C) E (D) D (C) JCBUTEFTIM D) TUBCJCDRHK
TBC : 24/ECPAI—D 32 :
TBC : 24/ECPII—D 33 PT.O,
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: same ¢alendar as that 1991 ?
73. Which year will have

; (B) 2003
2001
i e D)y 2010
(] o
100] 74 @ *RIM“‘“W e 2
@ 2001 (B) 2008
03006 - D) 2010
e et S uﬂwmhﬂd!‘“ clock inclined at 9 hours 45 minutes 7
W 23 ) =2
- 1'
© ul . o
> L e
% i ;3 B dey
w 22 - ® 233 R
= ",-_-u' L‘_, 7 [ B 1
10 Vl- 5 -_“. R
© 23 ® 255 g

75. A eyelist rides 24 km at 16 knvh speed and further 36 km at 15 km/h speed
His average speed for the journey is :
(4) 1528 km/h . (B) 1538 knvh
(C) 155 km/h - (D) 16.38 km'h
T mfen T 24 W, 16 fe, 7 @ ot 96 L 15 e
F1 W § W 1w A et st we s oh 0

(4) 15,28 el /o (B) 15.38 it g
(C) 15.5 e, (D) 16.38 f&dt./4.
'TBC : 24/ECPAL-D 34

76.

T

TBC : 24ECPMI—D 35

If the population of a city at present is 10648 and the rate of increment is

10% per year, the population before 3 years was : >
(A) 10,000 (B) 9,000 Py
(C) 8,000 (h) 7,000

aft uF e ® T T 10648 § AR 10%, % T F o A agdt &, 7@ A
o R waew ot

3) Lo TN
(A) 10,000 (B) 9,000 (2.

(C) 8,000 (D) 17,000

There are two candidates Bansi and Pappu. During the campaign 40% of the
voters promised to vote Bansi and rest for Pappu. However, on the day of election
15% of the voters went hack on their promise to vote Bansi and instead voted
for Pappu. 25% of the voters went back to their promise to vote Pappu instead
voted for Bansi. Suppose Bansi lost by 2 votes, then the total number of voters
is

(A) 90 (B) 95

(C) 100 ) 110

ieﬁ»mwﬁamhan%um%mnw%msﬁﬁaﬁméﬁmm
P 31 72 g} vy W) vl g A R 159 el 3 s ame $ faers
i@hwﬁmﬁmmmﬂmmzmmﬁﬁﬂm‘:ﬁmfmmaﬁmu
A A 2 A R OW T, 7 e e % wen § o

(A) 80 (B) 85
(C) 100 M 110

P.T.0.



80. The price of an article is raised by 30% an en two successive discounts of
5 tables. Then his gain percentage is A0% and th
to the selling price of 8 dis

10% each are allowed. Ultimately the price of article is :
8
! A 21%‘ (B) 24 ﬁ-% (A) increased by 10%
8 ‘ : ! B9
8 5 (B) increased by 5%
(€ 2% ARk
(Cr increased by 5.3%
: w g A 27 49 540 % F W T 3 5w fan g F WO A St
w W 5 Y % v b (D) increased by 4.3%
l mﬂi“ @ 243 e U A W A 30% @ fra e wen 21 wve 10% #1 %2 2 4w s 96
' 11 11 "
._‘ e
i 8 8
o 20—
: € Ba% ST (A) 10% =7 =i
78. 5 skilled workers can build a home in 20 days, 8 semiskilled workers can build (B) 5% 72 W
. the s=me home in 25 days and 10 unskilled workers can build the same home e
!‘ (C) 5.3% =¥ =
h&dm;lh;lmdﬂskﬂled,ﬁ'ﬁmiskiﬂud and 5 unskilled workers will build
(A) 20 daye (B) 1B days 3 81 The numbers, both greater than 29, have HCF 29 and LCM 4147. The sum
(C) 18 days. D) 15 days of numbers is -
smmﬁmﬁmﬁwﬂmmksmﬁnﬁﬁmmmm o i) i) _‘
ﬂﬂmiwmtmwmﬁmmmmﬁmmfwwﬂ (C) 728 (D) 749
®1.2 sRifi, 6 snd-siefen aar 5 srfnfen wrimd w1 T A s BTENR im0 A seas %2
ol ? wa R T @5 20 % v £ @ naw T WHY. FE: 29 997 4147 ¥, o
: ' TEN w1 Am b -
(A4) 20 &3 (B) 18 f
(A) 696 (B) 699
(C) 16 fq M) 15 e
{C) 729 (D) 749
TBC : 24/ECPAL-D a8 TBC ; 24/ECPAI—D 37
P.T.0.
! B — -—— = "
90 0 &9 v - - - 90w w: - v e - -
10000000000 @ eeo0000® " v -



82 The average of first three numbers i5 thrice the fourth number. If the average

of all the four numbers s 5, then the fourth number js ;

(A) 2 B) 4

(C) 45 D) &
el A Fena w1 s, WA T F T P E) a9 geet w5 stea
5 % A wE § o

(&) 2 (B) ¢

cr

(C) 45 ()

83, A family has a man, his wife, their 4 sons and their wives. The family of every
son also have three sons und one daughter each. The total numbar of male
£ ""j
membersis: | M/ W
s
W 22D ® 6
AP B

G S U s, swet ot a4 95 9 1 9ol €1 vl 99 1 ufan
ol 7 99 v v b T Her grd # wew ufEn A b,

(A} 4 (B) 6
) 12 @O 17

Read the following information carefully and answer question Nos. 84 to 87

given below !
) AMB means A is the father of B.
+ (A ra)
(if) A — B means A is the wifo of B. (h}:& )
2 = I
X (Gwtu )

(i) A x B means A is the brother of B.
® (degbia)
(i) A + B menns A is the daughter of B.
f= wom ) s ofed g R v (84 € 87) ¥ W difem -
=
e
&

-

() A - B % &6, A, B %1 =i &4 T

(B A+ B ad A B = fia &

() A x B % 34, A B %1 i &

() A= B W @b, A, B & T B

R 4 the
(A) P is the davghter of Q - ‘p‘* r o S,

@P 18 the aunt of @

mP+R+3+Q,mﬁmﬁﬁaﬁ’mm%?

(D) P is the mother of Q

(4) P, Q % ot % (B) Q P = =t ¢
(C) P, Q =t =t % D P, Q% wm ¢
TBC : 24/ECP/TI—D 39

P.T.O

4. IFP + R + 8 + Q, which of ‘the following is true ? P 4 ke clasg o o‘ R.

(B} Q is the aunt of P |
V4 e fibn of@



AN

Bah)

R,

: IfoR+Q.whichufﬂmﬁ:ﬂ¢ﬁn!i8tma?

85
(A) P is the uncle of @ (B) P is the brother of @
@th-mufq M) P is the father of @
P xR+ QT f &R I U fEw W L
(A) P, Q¥ T ¥ B) P, Q= wiE ¢
© P QT aat D P, Q= fm &
Pistevit g £ o Ky et of @
86. If P - R + Q, which one of the following is true 7 P?f
b ﬁ-ﬂ:lg
@Pisthemnmcrofﬂ (B) P is the niece of Q
' a
(C) P is the sister of Q (D) P is the aunt of @ '
wP-R+Q ™ fe # & ¥r Towen v & 2
(A) P, Q% 7w ¢ (B) P, QF1 v &
©PQRATE ® PQR=HE PR
frade ) "

P ke bera R, R he wife 71 a
87. If P x R — Q, which one of the following 15 true ?

[(A) P the sonvinlaw of Q @ P is the brother-in-law of Q
‘_[G).P is the father-indaw of @ (D) P is the sister-in-law of Q
AP xR-Q m frx § A Fp frwes v ¥ 7

(A) P, Q ¥ ¥-79-71 & (B) P, Q% W-F-w ¢

(C) P, Q #1 wrT-33-=1 & D) P, Q% femtw-a
TBC : 24ECPM-D 40

i

A solid cuboid has been colored Black on two of its opposite sides, Red on the
two other opposite sides and Green on remaining two opposite sides. It is then
eut into 72 cubes in such a manner that the 64 cubes are smaller and the
remaining 8 cubes are bigger in gize. The bigger cubes should not have any
of their surfaces colored Black. Now, answer the following questions (88-94)
based on this solid cube related information :

UF A Y F1 A fawiiE are w8 @ f ol ¥ aw gEd e 969 9
™ F A w7 faviw A @ W A TR B T I 72 I A W R O
twmetmmEmgue s @ amwr §) 92 99 F =% F 7% w9 WA

75 M I T 5w, W (88-04) W I AW T W WA HEW W difey

88, How many cubes are there which have at least one of their surfaces colored

Red ?
(A) 16 (B) 32 R [ tame
".‘ !' 2 - ah =
\._‘/‘_'3 =
(C) 40 D) 64
WA RIS mim s mam g2
(A) 16 (B) 32
(C) 40 M) &4
TBC : 24/ECPTI—D 41 PTO,



0 et w K fore w8 o o0 2

R o il

93, How many cubes are there which have at least one surface calored Red and
opposite surface colored Green ?

® 2 : .

( & . o8
|{ ' ﬁhﬁw&f«ﬁﬁ@mwwmhtwﬂwﬁa@mtﬁ ?
e ® 2

{03‘ 4 m 8
M_a. memhsmthmwﬁchhmmafthmndjamt surfaces colored -
i’ Red and Green {eansidering only two sides) ? " ”.::-
- ws @) 16
© 2¢ o 82
Rl ) T s e R F (S @ e B 2
(a8 (B) 16
D) 32
43 D 765,




('JJ 10 ' {
A2 A Wt A e § 7

-

=1 s o

®B) o (x-1)
m: n’&:-m '

B a?(x-1)

o o - 12

45 PTO.
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